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QUESTION 1

Which of the following statements is incorrect about uploading AR/VR teaching content to the cloud? -SC
A. AR/VR images and audios are efficiently encoded into audio and video streams in the client.

B. The cloud computing capability is used to run, render display, and control AP Applications.

C. Rendering with high requirements on latency is deployed close to user that service data does not need to be
transmitted to the core network.

D. The edge cloud deployment architecture is recommended to meet the low latency requirements of services.

Correct Answer: A

QUESTION 2

Using 5G to implement AR and assist industrial operation guidance is typical eMBB scenario.
A. True.

B. False

Correct Answer: A

QUESTION 3

Which one of the following levels of precision are possible with the 3G+RTK function?
A. to the centimeter

B. to the meter

C. to the submitter .

D. to the millimeter

Correct Answer: C

QUESTION 4

Which of the following is the recommended position for deploying the user data processing module for automated
driving? _SC

A. Edge cloud
B. Regional Cloud

C. Core cloud
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D. Access network

Correct Answer: A

QUESTION 5

Which of the following is the main advantage of using massive MIMO over traditional MIMO?
A. diversity gain

B. 3d beamforming gain .

C. single-channel array gain

D. multiplexing gain

Correct Answer: B

QUESTION 6

Which of the following is the maximum bandwidth of 5G mmWave defined by 3GPP release 15 ?
A. 400 MHz

B. 8.50 MHz

C. 200 MHz

D. 100 MHz

Correct Answer: A

QUESTION 7

In an industrial internet sensors are used to monitor the status. Which one of the following requirement in this case?
A. Low delay

B. Large bandwidth

C. High reliability.

D. Massive connections

Correct Answer: D

QUESTION 8

Which of the following URLLS statements are correct? _MC
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A. URLLS mainly considers the requirements on network delay.
B. URLLC service require a delay of less than 10 ms.
C. The typical application scenario of URLLS include automated driving. ,drones ,and telemedicine.

D. In mid-2018, 3GPP release 15 completed the URLLS basic version by the end of 2019, the completed version of
3GPP release 16 was provided

Correct Answer: ABCD

QUESTION 9

Which one of the following serves the main application service for 5G in early deployment phase in european union and
the united states?

A. internet of vehicle (IoV)

B. cloud VR

C. FWA (home broadband access) .
D. smart manufacturing

Correct Answer: D

QUESTION 10

Which of the following is a new service in the 5G era?
A. SMS

B. High-reliability and low-latency services

C. Mobile internet

D. N8-LoT

Correct Answer: B

QUESTION 11

Which of the following statements is correct about the 5G service -oriented architecture? _SC
A. Service-based interface

B. Network service are not open to external system

C. Network functions are decoupled and modularizedd.

D. Network function are combined and deployed as required
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Correct Answer: B

QUESTION 12

3GPP Release 15 protocols are divided into three stage : non standalone (NSA) networking, late drop.
A. True.

B. False.

Correct Answer: A

QUESTION 13

Which of the following are members of the 5G Open Trial Specification Alliance (OTSA)? -MC
A. SKT

B. Vodafone

C. Verizon

D. DCM

Correct Answer: ACD

QUESTION 14

Internet of Vehicle (loV), Requires coordination of network intelligence and infrastructure from vehicle mounted
information services?

A. True
B. False

Correct Answer: A

QUESTION 15

Which of the following security feature of the 5G can identify illegal attacks and reduce the impact of attacks?
A. Availability .

B. Integrity

C. Confidentiality

D. Traceability.
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Correct Answer: A
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